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In [5]: %matplotlib inline

from sklearn import datasets<

from sklearn.cluster import KMeans
import matplotlib.pyplot as plt
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In [7]: kmeans\; kMeans(n clusters=3)
kmeans . fit(%)
scatter(X[kmeans. labels ==0,0],%[kmeans. labels ==0,1],c="red")
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77Z900)O§” E %Xs 1 5” E ;Ey"l-/—c’/}glt scatter(¥[kmeans. labels_==1,0],X[kmeans. labels_==1,1],c="blue")
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plt.scatter(X[kmeans. labels ==2,0],%[kmeans. labels ==2,1],c="green” )
plt.show( )
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In [11]: ®.,y = datasets.make moons(n_samples=300,noise=.05) €——on N SE2A
plt.scatter (X[ :,01,%[:,1]) H ﬁ/'{kd)T Q_t, JF%”JLJ—

plt.show() xLO?IJ = N y(-1 5” = @1-57&)\%7':%&%
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In [12]: kmeans = Means[n_olusterSZZJ/

kmeans.fit(X)
- - > plt.scatter(¥[kmeans. labels_==0,0],K[kmeans. labels_==0,1],¢="red")
77Z900)O§U E %Xs 1 §IJ E éy'“b—c plt.scatter(Xlkmeans. labels ==1,0],4[kmeans. labels ==1,1],c="blue")

%@T%&*ﬁ plt.show()
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